

Geodesyjnus na kuli (19. III 15)

$$\int \sqrt{1 + (\varphi'(\theta))^2 \sin^2 \theta} d\theta \quad F = \sqrt{1 + \varphi'^2 \sin^2 \theta}, \quad \frac{\partial F}{\partial \varphi} - \frac{d}{d\theta} \frac{\partial F}{\partial \varphi'} = 0$$

$$\frac{d}{d\theta} \frac{\partial F}{\partial \varphi'} = \frac{d}{d\theta} \frac{2\varphi' \sin^2 \theta}{2\sqrt{1 + \varphi'^2 \sin^2 \theta}} = \frac{(\varphi'' \sin^2 \theta + \varphi'^2 2 \sin \theta \cos \theta)_{\text{num}}}{2\sqrt{1 + \varphi'^2 \sin^2 \theta}} = 0$$

numerators

$$(\varphi'' \sin^2 \theta + \frac{1}{2} \varphi' \sin 2\theta)(1 + \varphi'^2 \sin^2 \theta) - \varphi'^2 \sin^4 \theta \varphi'' - \frac{1}{2} \varphi'^3 \sin 2\theta \sin^2 \theta = 0$$

$$\varphi'' \sin^2 \theta + \varphi'' \varphi'^2 \sin^4 \theta + \frac{1}{2} \varphi' \sin 2\theta + \frac{1}{2} \varphi'^3 \sin 2\theta \sin^2 \theta - \varphi'^2 \sin^4 \theta \varphi'' - \frac{1}{2} \varphi'^3 \sin 2\theta \sin^2 \theta = 0$$

$$\varphi'' \sin^2 \theta + \frac{1}{2} \varphi' \sin 2\theta = 0, \quad \varphi'' \sin^2 \theta + \varphi' \sin \theta \cos \theta = 0$$

$$\varphi'' = -\varphi' \cot \theta, \quad \varphi' = g, \quad \frac{dg}{g} = -\cot \theta d\theta, \quad \ln g = -\int \cot \theta d\theta$$

$$g = e^{-\int \cot \theta d\theta}, \quad \varphi = \int e^{-\int \cot \theta d\theta} d\theta \quad \frac{dg}{d\theta} = \frac{dg}{du} \frac{du}{d\theta} = \frac{dg}{du} \frac{-1}{1+\theta^2}$$

$$u = \cot \theta, \quad \theta = \arccot u$$

$$\frac{-g'}{1+\theta^2} = g u \quad \frac{\varphi' \sin^2 \theta}{\sqrt{1 + \varphi'^2 \sin^2 \theta}} = C, \quad \varphi'^2 \sin^4 \theta = C + C \varphi'^2 \sin^2 \theta$$

$$\varphi'^2 \sin^2 \theta (\sin^2 \theta - C) = C$$

$$\varphi' = \frac{\sqrt{C}}{\sin \theta (\sin^2 \theta - C)} = \frac{\sqrt{C}}{\sin \theta (\sin^2 \theta - C^2)}, \quad u = \frac{\cos \theta}{\sin \theta}, \quad du = \frac{-1}{\sin^2 \theta} d\theta$$

$$\frac{d\varphi}{du} = -\frac{\sin \theta C}{(\sin^2 \theta - C^2)}, \quad \varphi = \int \frac{-C du}{\sqrt{1 - C^2 / \sin^2 \theta}} = \int \frac{-C du}{\sqrt{1 - C^2 (1 + u^2)}} \quad d\theta = -\sin^2 \theta du$$

$$\frac{1}{\sin^2 \theta} = 1 + \cot^2 \theta$$

$$= \int \frac{-C du}{\sqrt{1 - C^2 (1 + u^2)}} = -\int \frac{du}{\sqrt{a^2 - u^2}} \quad (a = \frac{\sqrt{1 - C^2}}{C})$$

$$= -\arccos \left(\frac{u}{a} \right) + \varphi_0$$

→ $\text{ctg } \theta = a \cos(\varphi - \varphi_0)$, $\frac{x}{y} = \text{ctg } \theta$

$\cos \varphi = \frac{x}{r \sin \theta} = \frac{x}{r \sqrt{1 - \frac{z^2}{r^2}}} = \frac{x}{\sqrt{r^2 - z^2}}$

$\frac{x}{y} = \frac{x}{\sqrt{r^2 - z^2}}$
 $r^2 - z^2 =$

~~$x^2 + y^2 - \frac{x^2 z^2}{r^2} = x^2 + y^2 - z^2$~~

$\frac{x^2}{y^2} = \frac{z^2}{r^2 - z^2}$

~~$x^2 + y^2 - x^2 \frac{z^2}{r^2} = r^2 - z^2 - x^2 \frac{z^2}{r^2} = r^2 - z^2 - \frac{x^2 z^2}{r^2}$~~

$\cos \varphi = \frac{x}{r \sin \theta}$

$\cos \theta = \frac{z}{r}$, $\sin \theta = \frac{y}{r \sin \varphi} = \frac{x}{r \cos \varphi}$, $\text{ctg } \theta = \frac{z}{r \sin \theta} = \frac{z}{r \frac{x}{r \cos \varphi}} = \frac{z \cos \varphi}{x}$

~~$\frac{z + r \sin \theta}{r y} = \frac{z \sin \theta}{r} = \frac{z}{r}$~~

~~$\cos \theta = \frac{x}{r} = \frac{z}{r}$~~

$\text{ctg } \theta = a \cos(\varphi - \varphi_0) = a \cos \varphi \cos \varphi_0 + a \sin \varphi \sin \varphi_0 =$
 $= A \cos \varphi + B \sin \varphi$, $A = a \cos \varphi_0$, $B = a \sin \varphi_0$

umwringung der Stammform $R \sin \theta$:

$z = Ax + By$

jedwache Seite der Punkte
 leip me $x^2 + y^2 + z^2 = R^2$